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1. Convert 2.325 into per cent.
2.325 ©R), Tezmed, OSB3R,

(a) 0.02325 % (b) 23.25%
() 232.5% (d) 2.53%

2. Express 120% into decimal.
120% o=, 33370033, dgé&%.

(a) 120 (B2
(c) 1.12 (d) 0.120

3. Express 5 g per cent.
OF B3 5 6/5 Teswe.

(a) 620%
(c) 110%

(b) 310%
(d) None of these

4. What is 80% of 50% of 90?
90 dQ 50% d@m 80% o3dexd? [RRB ALP 2018]

(a) 36 (b) 30
(c) 32 (d) 34

5. Find the value of 51% of 128.
128 dQ 51% S Eﬂﬂozsaid%( FoR)HBANO.

(a) 65.28 (b) 64

(c) 66.5 (d) 67.78

6. If 40% of x =y, then y% of 40 is same as ?% of x.
Find the value of?

40% x =y 8Ng3, 40 3 y% x S ?% S08 ADSS.
PSR B0 BBNO?

[SSC CGL 2017]
(@) 16 (b) 4
(©) 8 (d) 160

7. Find the value of 75% of 416 + 87 ¥ % of 56
416 dém 75% + 56 dQ 87 L% dfbe)éddg(
B0RHBNO

(a) 360
(c) 396

(b) 361
(d) 418

8. Find the value of 12 % % of 512 + 662% of 243,
12 % % of 512 + 66 = % of 243% = RPOBRY
FoRHBNO.

(a) 226
(c) 234

(b) 230
(d) 238

9. Find the value of ? 16% of 450 + ? % of 250 = 4.8
dfaoédaig( S0RDHBAO ? 450 + d@, 16%? 2503 % =
4.8
(@12
(c)4

()6
(d) 10

10. Find the value of (?) 40% of 275 + 35% of 160 =
50% of?

40% of 275 + 35% of 160 = 50% & diawéddg(

BoRBNO?

(a) 383
(c) 84.5

(b) 332
(d) 253.5

11. 40 g is what per cent of 1 kg?
40 o0 1 S30h Beswe OR)?

(@) 4% (b) 10%
(©) 0.1% (d) 16%

12. If A is 25% less than B, then what will be the
value of (2 B-A)/ A?
A, BAo3d 25% 8&3.)@1)(30(5, (2B-A)/AS 55306 ch.—-’%?

[SSC Constable 2019]
OF (b3
©3 @3

13. A number which, when increased by 16%
becomes 1914. The number is

2003 F0V0S @d& 16% éa&;&mﬁ 3 50&%

1914. k3 €3 ﬁoa% ) D

[SSC CPO 2019]

(a) 2220 (b) 1650 oa
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(c) 2010 (d) 1980 (€) 20% (d) 40%

14. The price of a scooty is X 50000. If the price is
increased by 20%, then what will be the new cost of
scooty?

20w @ated ¥ T 50000, TV, Fe.200a),
B30T Fa,Hah Zed I om)?

(a) 55000 (b) 70000
(c) X 75000 (d) X 60000

15.1f 20% of A = 30% of B, then B is how much per
cent less than A?

A ab 20% = B 0 30% PGS, A Ro3 O o), Fedmo

3Ba? [SSC MTS 2016]
(a) 20 (b) 25
(c) 33.33 (d) 12.5

16. If A's salary is 50% more than that of B, then B's
salary is less than A's salary by

A od Se383 BNoB 50% B33, B o SeS3IF) A ab

Bowvd,03 o), BDMDHIS  [SSCCGL 2014]
(a) 33% (b) 405 %
(©) 455 % @)333%

17. The price of an article is increased by 25% and
later on the price is decreased by 40%. Find the net
per cent change in price of the article.

SRAR PIabRy 25% BNt D) <030 e
40% Ox) BBDARNG. ey BSDY GV

TeBT udmdﬁabdg( F0RDHBO.
(@) 25% (b) 35%

18. The price of an article is increased by 10%, due
to which its sales is decreased by 20%. Find the net
percentage change in income.

208 SR SRy, 10% RN, *EdoweN
0BT Be0eER) 20% &), BBRRAG. BB
N5, BeBmmeth WRUIBHAIRY), BOBHLAWE.

(a) 16% (b) 20%

(©) 8% (d) 12%

19. The population of a city is 250000. It is increasing
at the rate of 2% every year. The growth in the
population after 2 yr is

20T IMTT wIT0ss; 250000. VWD B3 IRE 2%
BOBY @), 33, 2 SRENY 03T w23T0830d 3 Fe3edrt

[SSC Steno 2015]
(a) 2500 (b) 10000
(c) 252000 (d) 10100

20. The value of a commodity depreciates 10%
annually. If it was purchased: ago and its present
value is X 5832. What was the purchase price?

JoBNY d)’ae)é@ DodedaeN 10% Ja&), 2WNST.
el T, 00eDIZ3 D) ¥33 B3 aifaoé £
5832. 00ed 23¢3 o), ?

(a) X 7200
(c) 8000

(b) X 7862
(d) X 8500

21. An amount of X 18500 is distributed among A, B
and C in such a way that A received 25% more than
B and B received 20% more than C, then what
amount did C receive?

A, B23@) ¥ IS X 18500 Sp3BSRY, 80N,
3 Dedab A, B Nod 25% ®ad), D) B, € No3 20%
Bed) SBT3, 81 € o), SRBSIY, AeB0IT?

(a)X 7000 (b)X 5000 Pa
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(©)X7500 (d) 8000 n9d euderr ©@o3rPAod3 10 ©o3NYR, @)

22. There are 40% female employee in an office. If
70% female and 50% male are married, then find the
total percentage of unmarried employee.

200D BeIedob Fe.40 dwo tVERENRPTT. 70%
DHYDD DF) 50% J/DHID  I&B0NGT,
BB GVERENNY W), TeBToDoD) BT,
B0D&BANO.

[SSC CGL 2015]
(a) 60% (b) 42%
(c) 64% (d) 54%

23. Rakesh spends 25% of his monthly salary on
house rent, 20% of the remaining on children's fees
and food items and 25% of the remaining deposits in
mutual fund. After all these expenses, if he saves
9000 per month, then what will|be his monthly
salary?

08¢ OTD B, BB VoWYT 25% oY, DI
B, 20% OR), DY Dy, DI ©DO
DOBEAPTT DB VOB BeIedNYO  25% O,
ST FoTFIY UDE DTV, VF Y WU
2508 3onert X 9000 VLITT BIT Son% JowY

ac.—-’%?
(a)X20000 (b) 25000
(c) 15000 (d) 18000

24. A candidate scores 25% and fails by 60 marks,
while another candidate scores 60% marks and gets
10 marks more than the passing marks. The
maximum marks for the examination is

) eIBFody 25% ©o3nYR) ned 60 ©wo3nvos
D 3eer 0BT, AR B 60% LOBNIY,

SEnE. SOegr ridg Losnw
(a) 300 (b) 350
() 400 (d) 200

25. In an election between two candidates, a
candidate gets 84% of the votes and gets elected by
a majority of 476 votes. What is the total number of
votes polled?

YD WBDNY SDAS TS, el Beraiy
84% DIV, IBdwseS DI 476 DINY
RBDBO0T WTBTDBN. BUISHAWINT WE),
D3Y Sosd; o) ?

(a) 672
(c) 749

(b) 700
(d) 848

26. Ifthe price of apple increases trX80/kgto X 100/
kg, then by what percentage person should decrease
the consumption of apples so that his expenditure
remains same?

TedS 2JeJodw X 80/kg rt X100/ kg 1t Be39,33, 0dvod
FeSBoTod BID | JeAT | JeSIDR,  BBD
Sedeled 830083 o3I e wode SNDIE?

(SSC CPO
2016)
(a) 25% (b) 22%
(©) 20% (d) 18%

27.Due to a reduction of 61% of 6 % % in the price of

sugar, a man is able to buy 1 kg more for X 120. Find
the original rate of sugar.

Pa

e | 3

Copyright © All Rights Reserved | https://www.spardha.guru

www.spardha.guru
No 8, 24th Block Manasi Nagar Beside of Bliss

e

serviced Apartment, Mysuru, Karnataka 570029

info@spardha.guru
90711 54445, 90711 64446, 90711 74447



;5 m(;rbd) Spardhaguru India Private Limited
5%

Spardhaguru India Private Limited SG I PLC ECC PYQ REL Percentage

10 Years of Excellence

O spardhaguru2022 6 Spardhaguru Current affairs .5pardhaguru1

@‘ \(12‘%
ﬂ spardhaGuru @ Spardha.guru ™ www.spardha.guru Ve dlC

Mathematics

33,80d BBBY 6 1/4 % O, 61% SBIDoweN, 2)
&dgaﬁ) 2 120 3¢ 1 38 ﬁ?ﬁ% 00eDTe

T @erd3T. JB,B0od Bwet) BOB), B0TERBWD.

(@) X8perkg (b)X7.50 per kg
(c)X 6 perkg (d) None of these

28. Fresh fruit contains 80% water and dry fruit
contains 20% water. How much dry fruit (in kg) can
be obtained from 200 kg of fresh fruit?

To250 BRI 80% e DB 2 BeIRY 20% Jed
VDST. 200 3 Tozso BEIOT AR, WE BEYTT),
(BR0Q) IBEALBDD?

(a) 40 (b) 50
(c) 56 (d) 60
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